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                   Integrating Differential Equations- HW Problems 

 

Solve the following differential equations. 

1.    
𝑑𝑦

𝑑𝑥
=

2

𝑥3  ;             𝑦(1) = 3 

2.    
𝑑𝑦

𝑑𝑥
= 𝑥𝑒(𝑥2) ;       𝑦(0) = 2. 

 

In problems 3 and 4 find the position function 𝑥(𝑡) given the 

acceleration function 𝑎(𝑡), initial velocity 𝑣0 = 𝑣(0), and initial 

position, 𝑥0 = 𝑥(0). 

3.    𝑎(𝑡) = −2,          𝑣0 = 10,     𝑥0 = −4 

4.    𝑎(𝑡) = 6𝑡 + 1,    𝑣0 = −3,    𝑥0 = 2. 

 

5.    At time 𝑡 = 0 the brakes of a car are applied to a car travelling at 

22.2𝑚/𝑠𝑒𝑐 (≈ 80km/hr).  The car decelerates at a constant rate of 

20𝑚/𝑠𝑒𝑐2.  Calculate how far the car travels before it comes to a stop. 


